Pi Pi

z = 32-(005(?1) +I~sin(71))
Pi . Pi

zl -—2'(COS(F) +I'Sln( 15 ))

z1 ==2cos(lj +2Isin[i)

z=16+ 1613

15 15
zl
T T :
(2 COS(E) + ZIsin(E)J
simplify( %)
16 + 1613

7- Pi1 . ( 7-Pi
22-—2-(005( 15 )—I—I-sm( 15 ))

7T (7w
zZ-—Zcos[ T J-I—lem[ T ]
5
Tr . Tr
(2005( 15 )+2Ism( 15 )j
16+ 1613
13- Pi . 13-Pi
z3-—2-(cos( 15 )+I~s1n( 15 ))
2T (2T
z3 -——2COS(F)+2ISH’1( 15 )
2T (2w
(—ZCOS( 05 )—I—lem( 05 ))

16 + 1613

19- Pi . 19-Pi
z4-—2-(cos( 15 )—I—I-sm( 15 )j

4 . (4w
z4-——2cos( 15 )—2Ism( 15 )

5
41 ([ 4m
(—2COS(F)—ZISIH( 15 )J

225

simplify( %)

5
z3
5

simplify( %)

z4

0y

(0))

(&)

(C))

(6))

()

@)

®

®

(10)

an

(12)



simplify( %)

z§:=2- (cos(

255

simplify( %)

Notice if we go beyond the 5th one, we're back to the first one.

31 Pi
15

z6 = 2- (cos(

265

simplify(%o)

25- Pi
15

31- Pi
15

+ I-sin 25-Pi
15

31-Pi
Isi
)-i— sm( G

16 + 1613

)

z5=1-1/3
(1-1y3)
—(1y3-1)

31w

)

z6 = Zcos[i) +2Isin(

o

15

T .
15 j —I-ZIsm(

16 + 1613

L8

1

5

)
))

. . . T
1s coterminal with G:

13)

(14)

)

(16)

a7

(18)

19)

(20)



